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Total Solution for laboratory

TN-100 &8 SUHE &< SHIIE F0Ho =HM ZAELICH 0l S8Jl= SO0 2tEGHH &
= JIs0l AN Ot SUHM =FotI10t HelgLl .
TN-100 £&J|= 1SO 70271t DIN 27027 #20 &&ote=E dAHE HSLLICH
1.1 TN-100 X2 £5F #4
Item = g
1 S0E =S (TN-100) =H, “AAA” BIEI2] 404
A HHA

2@ XtCh 2 (Light Shield Cap)

Calibration Set (0.02, 20.0, 100, 800 NTU Stantards)

& (Empty Vials)

.I
ZctAE ME & 9 (Empty - for collecting sample)

aclE 22 (Silicon Oil)

Oo|lo|N|jo|la[~|w N
H
]
S
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M= & (Lint free cloth)

N e N = I 'S I B N e N e S e

&£ 9/ : Calibration Z= 2% %} =&
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OHAI2. Bo HEY

1.2 22X &9

O 1] =M &2

FR0E BLEAl OIH

ggs £ + AL

se2 FE=

+— Sample Vial

Sample Well
Index Mark

Liquid Crystal Display

Keypad
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Total Solution for laboratory

Calibration 25 E Al &I EA
: |
CAL 13 CAL 241 +-x21 TAvg
au», mg/l
\ \ \ \I/] NTu—~ =z @9 =4
PpPmM
/ /I\| I/ %pH
[ ] | § [ ]
14-HIJHE LCD
[O& 2]LCD &Y
1.4 3| 2 Jls (Keys and Functions)
Key J =
= MRS AHALL 2 M AIE. 23 M2 = 2022 0I2 =0 g2 M= A
ON / OFF
s2Z 0lted= HELUICH
» Calibration2 AI&EE M AIE. HES 20 =& J|l=  YHM Calibration
CAL EZ=o=z YOI LICh.
= CalibrationS &HotD HAE L2 IS AF=2ELICH
» SHDPC WA READ/ENTER 212 =2 SAdS &LIC
» 18] EH Al : 0l 212 29 HIZ (2 0.3 I £F) AU [-Rd-12}
108 8% ZAIE & SE0l ZAIELUICH
g =3 Al : 0] 918 F21 UYSH =H)|= CIAZH 0l &#0| 2x0/ &
READ / ENTER _ B B
A =HZ0| LU0IE HHAM AE=H0| ELICH 0 JIse 58 HES
=ANUZ AMEE £ ASBLICH (0l Jl=E Calibration 2EHME AIRE
4= QISLICH)READ/ENTER JI0A &2 MY ™ HIZ 138 &3S &
USLICH
= 0| I|= Calibration PointE BHAE [ A=ELICH. Calibration 2 =0 A CF
ANEE = ASLICH
NOTE : 0/ &I/ W& Al ISCZ Pointd} ZIIELICE O S0/ &t
A2V

PointE &&FLZ Caliprationdl® IS PointE AIESCE HHAEL/IL) E&
Gl Bt Calibration & SFZ06t5 &2 F Calibration DE0A MA LY
2L/




Total Solution for laboratory
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[Od8 3] 2l HE

1.5 &X|2 &2l (Battery Installation)

X SECHOIHE 0120t ST FHO A= 29He UHAIE 20 & X EHE ELICH

2. &X =0 %A D
Philips Screws

TR

Battery cover gﬁ_a
_.--'—""F'J

CoIHZ =LICH

1.
CtAl d X GHE

Four "AAA'-sized hatteries
[OE 4] 8K &

2. &< W3¥ (Turbidity Calibration)
TN-100 &S H= & 1 A WA (Calibration) ot HAEE HIXLD &0NE HMBLLCH 25t
AOHAH B2 SEHE & = JAsLUC. X8 28 H2EE =012 |0 M nE = ALE6t
= A0 BHEAELULC wd FI= 120 13 2 HEELICL
44 EE NE M REE KL nd8otsE 240l sHIIQ LUEE =0l=0 JtE E&LICL O
U =& BHRREZ22 EE udE X 11HE X1 w¥ote AE RYUSLC
XHEE 24 (Light Shield Cap)2 AM25t0I 0 C= =F2 610 BLICH



Total Solution for laboratory

21 EF WA 4 (Calibration Standards)
= CAL 1 800NTU HF Wl
= CAL 2 100NTU =& nd
= CAL3 200NTU E& WE o
= CAL4 0.02NTU HE& Wl A
SlME T2l (Formazin) EF & U2 R4S & &0l 8t = AZSHAID| BHELUCGC. &
22 HAIZESEE T AsS6td XS X0 B2AGHAIL. SHES HSAN S2AGHAH e 0
OIHE S0 M&EZ CHEILICH E£8F =9 K&, 28 S2 =29 oAl
2.2 W¥ =AM (Calibration Procedure)
1. -100 & HE HtE0l 1210 #@dgst 20 =HIIE ssUt
2. HZFE EY CAL1=2 ZHIoSHH g2 &Ad HAOIRY &2 a2d HAl 032 X

=
5. CAL J|E &8 =d FEAL. “CAL” ZAIDt &2 &

7. "CAL 1 800 NTU” Jt

OF UXIAIH SEHO &Y SOl 2K Lo LT

22l XIS 2 (Light Shield Cap)2 S&J| S0l 221 2H0F ZHAIL.

ON/OFFIIZ2 =2 €S9 A2 AUCHL M0 AXY =HI|= =HR=2 2LICH
A x

5t2hs “CAL 1800 NTU"JF ZEAl ELICH

READ/ENTER 2|8 S24/Al2.

2% SO ZAIS®A CAL 1 Pointl DOl &2 SLCH 0t2

= MIAIXl “CAL 2 100 NTU” JF £ Arelg]

Flot &2 YOz CAL2, CAL3&CAL4 EZF WE WS &UGHH WES
CAL 4tX 43822 1WHE (Calibration)0] Z2LtH FHS2
Ol S &fLICh.

NOTE

1.

Brot 1% (Calibration) ZE0A MAGLIID 2E FR0E CAL F/1E F248A4/2. I2/5

0/&0j| Calibration & 28t 200 MA LIZLILCH

A L=V J/Z W PointE 2L F7/LF [FES Calibration PointZ 0/&&" + 2I&L/ICL

&t PointS W& 0] §FFC=E ZLIE S I/&E A#&52F [}Z Calibration PointZ 5 0/2fL/

CF 35 4 Point JIA] W& 0] S258 NfsCF SHZEZE ZH5L/0F
L2E S0 02/7F 285t5, StEME 0c] HAIXIt EAIL D S/ E 2E

D WwEHE GIOIEHE HE6IA 7 SFZEE FHEL/CH

el OIAIZIS EFL REE 258 SHoHZ HE FXof F4/4/2.
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Total Solution for laboratory

CAL3

200

Place the next CAL
3 standard into the
sample well

CAL3Z
20.0MNTU

HE.‘.EI
EN'EH

CAL 3

- EUU |

1 FIas"uEE about 10

times or more

CAL 4

0.0c -

Place the next CAL
4 standard into the

sample wel CAL4
0.02MTU
READ
/
o CAL4 -]
=4 ] ~

Flashes about 10
times or maore
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The TH-1000 T-100 meter is now ready
for measurament
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Total Solution for laboratory

NO] = Ol&0l nE#HE OI0IE |X oI
tHO [-Rd-] JF 1081 B & ZE0I10 CIAZ0l D) SEI2EZ S0t LI

METER OFF

Press UP and ON/OFF

keys simultaneously and
hold for 2 seconds before
releasing
Pressz UP or DOWN key to
select YES or No

9ES Fo{ Mo

N /Ta retain tast
T oo factory READ % / calibration values
calibration — -
ENTER // without retnsving
J factory calibration.

[-Rd-] will fiash 10 fimes J/

~-Rd--
|
_Eid-

The meter is now ready for measurement

[ 6] 21 Al €8 22 MAME

& 20 ANl wdEHAE GOoIEHZ ==2l)l

0 &&= 2% 20 Al &FEUE WEH (Calibration) CIOIEHZ WA & = ASLIC
RE A WHOI L Xt oleid LA i T= M22 HE WE M0l 4AUS
LICH gge

ETCHSl MU0l NMA MEHOIA A J12 ON/OFFIIE of 22 S0 SAIM SSLIC
stetol [URST] (User Reset) EAIDF & 2% S0 HAIE D [NOIJH EAIEUT

A J|2 VIS 0I85t0 [YES] & [NOIS HE&ELICH

- [YES] = 3& 21 Al DEEHAE HOIHZ =sel))



3. &5 =3 (Turbidity Measurement)
31 38 38
S50l TN-100 EEEH = MRS SE2

NOTE : TN-1008/ ASIX/E FHI| &0 Z

4= g NE
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g W s &

NTU (Nephelometric Turbidity Unit)2 X Al&fLICt.

g5 &

0
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W

OF BHLICL ST HE %0/21E HESLIC
22 FE 2 (Light Shield Cap) S 5& Mo MZ & 101 M0/ FLAIL.
ON/OFF 312 =2 SEHo ®AS 3404 oot 22 MU HAIXIF LiSLICh

CAL13CAL 24 g Tmrg
—I- —_ . ﬂ PPm
\ 1 rﬂ tipH
Arzading will only appear
fyou have placed a via "Rd" will flash 10 fimes N I 7
ar any of the calibration before a reading appears
standards provided into - 1 4+—  (aszuming you have -+
the sample well. | placed a vial into the - -
Otherwise an errar b sample well of the meter
message "Err 87 will 7 1
Annear
32 §5& 53 =AM
3.21 ME 9 FHI
1. JHRStD HAXEN Y= M2 H= ZHILICH m
2. Ol =S2/E &22 &1 210 & HREEE 855 oA, =80 ¢
HRAKNH =FHZ0| H&GHA E2=2 = USLICH — ¥ —
3. ST MEs Y 1oml EE £ 0HE 22 2 &8s & W 250 d+
H AL, oW £ H HE Bt=of =8 ESLUICH
4. g0 22 2 25 S22 HOIU REH2 22 HOt HAAIL.
e
ME Yol HOH A A2 YeS 2l L2 Mz 218 ZE Y
28 7]:
SOt =HAIL.
AHIZ b
o= o
[
d
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Total Solution for laboratory

z
3
RO
R

0l
0H)

3l
=

Hin

Light shield cap for

covering

JI =Mt

S|

RO

KIr

2t

I Al A

Ql
=

o Esutt

oll

o

the vial during

measurements

SLICH

oF
s

QX

LICkH

=
=

(Light Shield Cap)= & 0

NS L

%
ON/OFF JIE

0

5.

Flace wial
into the

AD

R

samiple well

ENTER

A LIC.

1L
I

HEH O

o1

£ 88~

— —
-
]
o =
T oD
%0
"
U
= J
B0 i
oy ™
0 x
HoE
R &
N a
7w <
—
0O
adJ |
U
lfe)
% S
Kr ol
n =
i =
2 U
w9
ok
o

10



Total Solution for laboratory

0/8otE/ A1 2. &5t

NOTES :
1. &EhlE &7 EH0 &8 dYHE =X UL g4 ST 4= &2
He5t B =HS A HE OINE MNE5/D «5t 28 FE 2 (Light Shield Cap)E Z
HMOZ N0 ELICH
2. ZE YRS MEZ2 ANESILAIL. B0 =42 = + USLICH
WEZ =2 6, 0 SFI= FHE M8 = 2082 OF2 220 XS = VSO=Z O/E
= WL,
33 13 53 E= 9o 53
33113 =3
1. EEZHE HBEs R0l =10 SHR2E0 =28AIL
2. ME0 U= ME E2 0 20 EsUt
3. 29 XCH 2 (Light Shield Cap)2 0 ZLICH N
4. READ/ENTER 2|2 =2 S¥S AIREUCL Sample well
5. “Rd-* D} 108 2810|0{ =22 TAIELICH
iy
5 | £
. -
I Q d -
- -
i 5,
Flashes about 10
“,'.iITEE
'l 5 8 NTU
(D2 11]:13 =3
332 o2 =X
1. EEZHE HBEst R0l =10 SER2E0 =28A2.
2. ME(| YUs MZ WS STH0 20l 2D TR K 2 (Light Shield Cap)2 20 SLICH
3. READ/ENTER J12 S22 ULICH
4. =0l OHEE WIX JICHILICH
NOTE : o2 =3 Z0| =ZII= [JAZ30] F0| 2X0) 514 =Z20| QHIO0IE LA o
S=X0/ SLIL. 0 IISS A 22 FE5 AN &S + ASL. B3 =52 HE
22 15 EHES G417 HIZHIC)
&2 MY HsSo=2 18 =8 252 #H U

5. READ/ENTER 3|0l M
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SAMPLE
LInknown

Place vial
into the
sample wel

ou can tum

the vial for
Press and hold indexing
i | s
- -
- -
I | W
[D8 12]: ¢ =5

Total Solution for laboratory

4. Xl diZ (TROUBLESHOOTING GUIDE)
2 F&)|l= AIHEE IS0l U220, ZHIH LAl IHs22 ld FEE HAIELICH
LCD BIAIXI a o Wz
D o2, SFIIOt 800 NTU EF DF 2 QIS &K
ERR 1 B0ONTU HE DT %S ASTHAIR.
LI
D o2 SFIIOF 100 NTU EF DI ¥Z2 QIAES &K
ERR 2 100NTU B DE %S ASHAIL.
eI
D o2l SZIIJF 200 NTU BEE DF %S QA4S 56X
ERR 3 200NTU HEE DE %S AISSEAIR
eI
D 2. SZII0F 002 NTU EE IF %S A4S &K
ERR 4 0.02NTU HEE DE %S AISFEAIR
eI
DA 0210~ 1000NTU A0S =X 9l LOIA SHS 5 |44 BE DF UOZ [HAl BES 5Hd
ERR5
Il of2gie 26 S0l 43 =0l UASLICH A2,
T8 DI AL 0 - 100NTU AOIS] 53 9l LN =3 | 419 EZ 0¥ %02 UA RIS oy
ERR 6
g 571 ol 2a S0l £ =0l YSsLICH A2,
T8 DE . 0-20NTU A0I2 53 B9 LHOIA SHS | 4049 BEE DY %02 UAl BIES oY
ERR 7
31l olzie = S0l 3 ol USLIC A2,
20| DESHAH EAELICH M g2 Al BFD) 20K JISLIC
ERR 8
=3 5 Low BiE2] EAD US BHEI2IS D8 SlaAIR.
ERRO | It HXX &8 EHREZ =N BHAL.
or =30 53 BB HOUS. MEZ BSHN SHIIUAR
X 2O CHEIYSLCH M EXIZ D& SHAID BREILICH
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Total Solution for laboratory
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Total Solution for laboratory

6. Ab &
2gdg TN 100
=3 ¢d ISO 7027 HIAE (90%)
=3 g4 0 ~ 1000 NTU
0.01 ~ 19.99 NTU
s @9 H2E 20.0 ~ 99.9 NTU
100 ~ 1000 NTU
0.01 NTU (0 ~ 19.99 NTU)
Z ol s 0.1 NTU (20.0 ~ 99.9 NTU)
1 NTU (100 ~ 1000 NTU)
= < KIAIXIQ £ 2%(0 ~ 500 NTU), =+ 3%(501 ~ 1000 NTU)
PR s KAXS < +1%
imi g 4 points
BrS AlZt 6= Olot
o= 10 ml
= e Meld €@ 0olE (IHE 850 nm)
s 2/85 EX 0~50C/0~90% RH
HE 25 HY 0~50TC
g~/ 25 53 IP 67 / Pollution 2 2
A 2 4-digit 14-segments LCD
o 2 AAAE 1.5V 23tetel AKX x 4 4
3 21/ A 68 x 155 x 46mm / 200g
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